Measuring Balances

Name:

Class:

Find the mass of the following fruits. Each
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The mass of 1 pear is:

The mass of 1 apple is:

The mass of 1 lemon 1is:

The mass of 2 strawberries is:
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stands for 50 grams.
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The mass of 2 pears is:
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The mass of 3 apples is:
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The mass of 2 lemons is:
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The mass of 6 strawberries is:
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Find the mass of the following fruits. Each
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The mass of 1 pearis: 150 g

The mass of 1 appleis: 200 g
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The mass of 1 lemonis: 300 g

The mass of 2 strawberries is: 200 g
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Answers

stands for 50 grams.
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The mass of 2 pearsis: 300 g

? T

o

The mass of 3 applesis: 600 g
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The mass of 2 lemons is: 600 g

?

()
©

The mass of 6 strawberries is: 600 g
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